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NH3 ([Zn NH3)4 ]2*

[NH, J[OH] [NH,] = K K 1.75%10°5 18

NH,
Zn + 4ANH; > [Zn NHy), 1*
NH;
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( m3/ )|( m3/ )|( m3/ )

5626.4 2246.9 78733
880.6 3897.3 47779
) 13237 99.1 1422.8
7830.7 6243.3 14074.0
() () ()
715 28.5 100.0
18.4 816 100.0
) 93.0 7.0 100.0
55.6 44.4 100.0

12,614

( m3/ )|( m3/ )|( m3/ )

9063.3 3619.4 12682.7
1418.5 6277.9 7696.4
) 2132.3 159.6 22919

12614.0 10057.0 226710
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1Img/l

1Img/l
2mg/l Imgl/l Imgl/l
0.044mg/I
1.045m3/s
0.085mg/I 0.052mg/I
0.041mg/l
0.02mg/I
1.474m3/s

Img/Il
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Img/I
0.015m3/s
0.01 m3/s 288m3/
0.024m3/s 700m3/
0.008m3/s 240m3/
0.024m3/s 700m3/
0.011m3/s 330m3/
1mg/l
1m3/s 0.84m3/s
1991 10 1992 10
10 446
0.84m3/s
(43.7 )
( 2mg/l)
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